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Code No: 153AN
JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD

B. Tech II Year I Semester Examinations, December - 2019

Given that (292) rc :Q'204)b determine b.

'Time: 
3 Hours

Note: This question paper contains two parts A and B'
part A is compulsory which carries 25 marks. Answer all questions in Part A' Part B

consists of 5 Units. Answer any one full question from each unit. Each question carries

10 marks and may have a, b as sub o.uestions'
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1.a)
h\
.j
d)

.: e)

:fl..:.,i . o)D/

Write a note on 'displaY decoders'.

What is the difference between Latch and Flip Flop?

What is Moore and MealeY machine?

Drpw, t-h.g circuit for.CM-QS AND-98 lnv-grt (AOI) lpgic gate'

+Oir (q-8j:""d (sg),in Excriss-3 forrn. i i ,, .,, ,, ;.- ,,- -

neaile'tne function fr = A @ 8..@ C iising twb half,adders:

necessary.
Differentiate combinational and sequential circuits.

List the limitations of finite - state machines.

what are the precautions to be taken while handling cMos logic gates?
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Use additional gates rif
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'i

Boolean funciion (AB+CD) (B'C+A'D) and reduce it to a

rlti
Using ritc trbrrler lnethod. oLrrain the prirne irnplicerrts o[- a:_

b)

3.a)

i:i i
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three different bit Self-Complementing

1.a) Minimise the follorving expression using Karnaugh - map

f (A,B,C,D): }n (l ,4,7,10,13) +Id (5,14,15)

b) Give'the'got.-l.r"i realization for 8:1 mux with active-lor,v enable input. Show how

sev'eral 8:1 muxes can be ccrnbirted to make a 32-to-1 rltux' [5+5]

,,J

lorrr'- irtpLti sittgle-oLttpttt

the pi'ime-implicant tableInnction (lv,x,y.z)': : I rn(0,2,4,5;6,V,8,9,10,1 1,13)' Reduce

and find the minimal cover of f.
b) Give the schematic circuit of a 2-to-4 binary decoder with an active-low enable input.

Give ths truth-table for the same. [5+5]
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negative iieight is -4.

Convert the hrnction f tx. y. z):ft (0,3- 6- 7)to theotllercanonical I'ornr'
.'..'.:
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6.a) Draw the circuit diagram of a negative edge trigger J-K Flip-Flop with active high

present and clear and ixplain its opeiation with the help of truth table'

b) Draw the circuit diagram of a m;d-10 ripple counter and explain its operation with the

: , aidofoutpuiriri.tliii.gaiug"n"-;,^.1 ',' ' , i 
' ' [5*5] 

'

l.a) Drar,v the circuit diagram'of a RS flip tiop'and .,pioin its operation with the help of truth

table.

b) Design a modulo 6 up/dolvn synchronous counter using T flip-flops and drar'v the circuit

diagram. f 5+51

,- - , ,8. A sesuential circuit'with 2 D flip-flops' A and B:2,,in?ul!'x and \'; and'one

"' t;."a,f"qtp; the follov" ing equations ' ' ' 
:

A(t+1):x,Y+xA
B(t+1):xB+xA

..

v -l)
a) Draw the logic diagrarn of the circuit

b) Derive the state table

c) Derive the state diagram. : : [3-i-:ll
':tr ..'..OR,.:, i,, ,,

A,.o-Uirurional iock Circuit has lwo-irnporls (i1,'*2) and single output 1Z) is to be

designed such that the lockopens (z:1) r'vheneverthere is a sequence of form consecittive

inputchangeswithX2=l.Constructthestatediagramandstabletablefortlriscir.cuit.
[10]
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10.a)
li

lr '::. b)

1 1.a)

b)

OR

Draw the circuit diagram.of basic TTL NAND gate and explain the three

help of functional oPeration?

Describe CMOS driving TTL'

parts with the

[6+4]
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